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The Outstanding Public Debt as of 27 Sep 2007 at 03:01:01 PM GMT is:
	


The estimated population of the United States is 303,099,744
so each citizen's share of this debt is $29,700.55.

For more information see

http://www.brillig.com/debt_clock/faq.html

The National Debt is the sum of all over spending by the government. This includes budget spending and off-budget spending. 

The value of the debt is over $9.0 trillion. The interest payment on this debt is over $300 billion.

Who does the government owe the money to?

Like anyone who borrows money, the government owes money to their creditors. 

Percentage of the debt owed to various groups.

Private Companies

58%


Mutual funds


Banks


Individuals


Foreigners (24%)

Government 


42%

US Treasury Trust Fund (20%)
Federal Reserve Bank (8%)
Banks and Investment firms wait in line to lend the US Government money.

How is the money moved from these groups to the US Government?

These groups give money to the government, and the government gives them US Treasury Bonds. These bonds are IOUs from the government. 

Where does the money go?

The government spends the money. When they need money to pay their creditors (the people who lend them money) they borrow money from one group and give the money to another. It’s like you owing using one credit card to pay off another credit card. 

One place the money goes is the Social Security Trust Fund. 
The workers in this country pay over $600 billion in social security taxes. Most of this money, say $550 billion goes to the current recipients of social security. The excess $50 billion goes to the US Treasury Department. They give this money to Congress to spend. Then, the US Treasury Dept issues a $50 billion bond (IOU) to the Social Security Trust Fund (also known as the US Treasury Trust Fund).  So the Trust fund holds this bond.

There is approximately 2 trillion in this Trust Fund. Picture this stack of IOUs. 

So what’s the problem?

When the Baby Boomers retire, the contributions will decrease and the payouts will increase. So there will be no more money going into the Trust Fund.  

In fact, the government will need to pay some of their IOUs to cover the amount owed to the Social Security recipients. 

Where will the money come from?

1. The government will have to borrow money from some group to pay the recipients. Who will they borrow it from?  Savers. Who saves? The working people.

2. The government can increase taxes to get money. Who will pay the taxes? The working people.

What is the solution? Should we be worried?
They just have to start balancing the budget, eventually as income rises, the percentage of debt to income will decrease. Keep making the interest payment. 

What is the relationship between debt and interest rates?

Increase in debt increases the demand for Loanable funds and increases interest rates.

Off Budget spending is counted in the debt but not reported as part of the annual deficit. 

Types of Treasury Securities


T-Bills 13 weeks to 52 weeks in maturity


T-notes 2 – 9 years in maturity


T-bonds 10-30 years in maturity
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You can skip one question without penalty. If you answer all of the questions each question will receive a lower weight.

1. Starting with the National Debt equaling $2000 on January 1, 2006, the federal government calculates that on December 31, 2006 they incurred a budget deficit of $300 over the year, and off-budget spending of $150. What was the value of the national debt at the end of 2006? 

2. How could the Federal Government incur a budget surplus, and have an increase in the national debt?

a. if off-budget spending is less than the budget surplus

b. if off-budget spending is more than the budget surplus

c. if off-budget spending is the same as the budget surplus

d. if social security contributions increase

3. What is the Social Security Trust Fund?

a. a collection of bonds held by the Federal Government

b. excess money paid by social security recipients

c. an account that shows the funds available to future social security recipients

d. all of the above

4. What can the government do to continue the social security system in the future (when the baby boomers retire)?

a. increase taxes

b. borrow money from anyone who will lend it to them

c. increase the retirement age

d. reduce the benefits amount to future recipients 

e. all of the above

5. Who is the largest holder (owner) of the National Debt?

a. foreigners

b. private investors

c. social security trust fund

d. the Federal Reserve Bank

6. If the Federal Government wants to borrow money for 30 years they issue

a. Treasury Bills
b. Treasury Bonds

c. Treasury Notes
d. Savings Bonds

7. Why do individual investors lend the government money?

a. the government traditionally pays the highest interest rate

b. the government forces people to buy government bonds for private retirement (IRA accounts) 

c. government bonds are very safe

d. all of the above

8. It took the US government approximately                     years to accumulate the first $1 trillion in debt, and approximately               years to accumulate their second trillion dollars in debt. 

a. 100, 5

b. 200, 5

c. 100, 10

d. 200, 10

9. If the government takes some of their surplus and uses it to pay off some of the  national debt, then 

a. interest rates will rise

b. interest rates will fall

c. tax rates will fall

d. the social security trust fund will be depleted

10. If the returns the government budget surplus to the tax payers, then 

a. consumption will fall

b. consumption will rise

c. exports will increase

d. tax rates will rise 

11.  How can the National Debt problem be minimized without paying the debt off?

You need a two or more part answer.

